Lecture 21: More Mechanistic Experiments

Announcements:
+ Midterm 2 is not yet graded (sorry).
* Problem Set 6 due on Thurs, 12/8. Will be posted online by tomorrow.
+ Please fill out online course evaluation. I'll email a link tomorrow.
+ Only 3 lectures left!
o Today: More mechanistic experiments (the last ones)
o Tues, 12/6: Pericyclic Reactions: The Physical Organic Side
o Thurs: 12/8: Noncovalent Interactions

Today: More Mechanistic Experiments
+ Secondary Kinetic Isotope Effects
o Singleton Experiment
* Isotopic Labelling
* Nonlinear Effects (handout)
+ Radical Clock Experiments
+ If we have time, we'll start on Pericyclic Reactions.
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Singlefon - Expeu munt  (JACS 1945, 117, 9357)
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Nonlinear Effect Experiment
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Girard, C.; Kagan, H. Angew. Chem. Int. Ed. 1998, 37, 2922.
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Nonlinear Effect Experiment
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Radecal  Clock Expewrmants
Does your reachon involve radical internediate?
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